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Reasons Why Fundamental Accounting Concept1 Test Fails 

BS4 

Liabilities = Current Liabilities + Noncurrent Liabilities (classified balance sheet) 

What this rule tests 

This rule tests the relationship between three very common line items of a financial report: 

 Current liabilities 

 Noncurrent liabilities 

If an economic entity reports using an unclassified balance sheet, then this test is not applicable.  

Approximately 75% of entities report using a classified balance sheet, 24% report using an unclassified 

balance sheet, and 1% use liquidity based reporting. 

Of all filers reporting using a classified balance sheet, approximately 96% pass this test.  Of the 

remaining 4%, the following are the reasons this test is failed: 

 Using the US GAAP XBRL Taxonomy concept us-gaap:LiabilitiesNoncurrent to represent 

something other than Noncurrent liabilities (60% of failures) 

 Expressing current liabilities using the concept us-gaap:Liabilities rather than the concept us-

gaap:LiabilitiesCurrent (approximately 30% of failures) 

 Some other inappropriate use of the US GAAP XBRL Taxonomy concept us-

gaap:AssetsNoncurrent (approximately 10% of failures) 

 Undetermined reasons 

 

Common reasons why test fails 

Using the US GAAP XBRL Taxonomy concept us-gaap:LiabilitiesNoncurrent to represent something 

other than Noncurrent liabilities 

One of the most common reasons this test fails is because a filer does report a balance sheet line item 

using the concept us-gaap:LiabilitiesNoncurrent, but that line item is not noncurrent liabilities.  

Generally, the line item being reported is other liabilities.  (This is similar to the error B3.) For example, 

consider the balance sheet of this filing: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1168213&accession_number=0001168213-14-

000074&xbrl_type=v#  

                                                           
1
 For more information on the fundamental accounting concepts and the relations between these concepts please 

see http://fundamentalaccountingconcepts.wikispaces.com  

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1168213&accession_number=0001168213-14-000074&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1168213&accession_number=0001168213-14-000074&xbrl_type=v
http://fundamentalaccountingconcepts.wikispaces.com/
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This is a clear filer concept selection error. 
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Expressing current liabilities using the concept us-gaap:Liabilities rather than the concept us-

gaap:LiabilitiesCurrent 

A handful of filers make the mistake of providing half of a classified balance sheet.  As can be seen in the 

example below, current assets is reported, a heading is provided for current liabilities, but then the line 

item “Total Liabilities” is reported as opposed to reporting current liabilities: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1088949&accession_number=0001062993-14-

004664&xbrl_type=v#   

 

This shows the concept used to express total liabilities: 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1088949&accession_number=0001062993-14-004664&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1088949&accession_number=0001062993-14-004664&xbrl_type=v

